Name:

Special Triangles vs. Trigonometry vs. Pythagorean Theorem

The first step to solving a right triangle problem is recognizing what type of problem you should be solving. There are
various options that help you to evaluate right triangles:

Use Special Triangles Pvthagorean Inverse
when Trigonometry 30-60-90 45-45-90 ythag v
you Theorem Trigonometry
HAVE: 1side and 1 angle | 1side on 30-60-90 | 1 side on 45-45-90 2 sides 2 sides
WANT: a side a side a side a side an angle
10 10
Example: 5 5 5 S 5 5
u u
X X X X

Section 1: Determine which process you should use to solve each triangle below.

EXAMPLE: Which process should
you use to solve for x?

6
X ;15
I have 2 sides, & | want a side, so I'll
USE:[PYTHAGOREAN THEOREM |

EXAMPLE: Which process should
you use to solve for x?

e

[ have 1 side on 45-45-90
& [ want a side, so I'll
USE:[SPECIAL TRIANGLES|

EXAMPLE: Which process should
you use to solve for x?
[
4

[ have 2 sides & want an angle, so I'll
USE:[INVERSE TRIG|

EXAMPLE: Which process should
you use to solve for x?
12

[ have 1 sides and 1 angle,
& [ want a side, so I'll
USE:[TRIGONOMETRY |

1a. Which process should you use to
solve for x?

182

2a. Which process should you use to

solve for x?
e

4

3a. Which process should you use to

solve for x?
Zj

2

4a. Which process should you use to

solve for x?
2 :5

5a. Which process should you use to

solve for x?
X

12:9

6a. Which process should you use to

solve for x?
11
1x

7a. Which process should you use to

solve for x?
8
X ; 4

8a. Which process should you use to
solve for x?

63

X

9a. Which process should you use to

solve for x?
* jsm

10a. Which process should you use to

solve for x?
3 ifi X
9

11a. Which process should you use to

X

12a. Which process should you use to

solve for x?
N

10

13a. Which process should you use to

solve for x?
3 6
X

14a. Which process should you use to

solve for x?




Section 2: Determine the value of x.

EXAMPLE: EXAMPLE: EXAMPLE:
6 ? 7
pa
*1 s 0057142
i i 1 45-45- 714.00000
Pyth. Thm: a? + b? = ¢? Special Trlan{iles. 45 4\7_90 ) Inverse Trigonometry: . 51
c is the hyp! oppdSix=_17_ < (4V5) =_7_ Soh|Cah]|Toa 58
x2 + 62 = 152 opp45:x = 45 7 47 4 49
x2+36 =225 hyp:xV2 =___ cos(x’) = =t
x* = 189 cos(x”) = (7)5714 -7
x =189 opp45 = m . 730
X=\/§V21 x° =[55° -28
b
x =[3v21] 20
EXAMPLE: 1b. 2b.
12 182
° 5 X 6
b4
Trigonometry: 4
Soh Toa
12 x 12 x
827 = -
cos =33
12co0s(82°) = x
12(0.1392) = x
1.6704 = x
X = |1.7|
3b. 4b. 5b.
X
] i N
2
5 ™’
2
6b. 7b. 8b.
11 8 63
X x: :4 xzo
9b. 10b. 11b.
3 ﬁ X ©
X
& 5 M
X
12b. 13b. 14b.

10




